LESSON 4 BINARY TO DECIMAL PUZZLE

Name

Directions: Look at the clues, each table contains a binary number that needs converted to decimal notation.
One response will be left off on the table and that will be the correct answer. To find the correct number, cross
out the answer to each clue in the square that is accounted for. Your answer will be the number that is left.
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1) It’s not 1000 or 1100 12
It’s not 0011 or 1111
It’s not 10000 or 1110

10

13

It’s not 10001 or 11000 33

32

What is the number?

11

2) It’snot 1010 or 1011
I’snot 0110 or 1111
It’s not 1001 or 1100
It’s not 100000 or 100001

What is the number?

3) It’s not 100000000 or 10000000

It’s not 00000100 or 01001010

It’s not 00010100 or 01000001

It’s not 000001111 or 00100011

What is the number?

4) It’s not 00010001 or 10011101
It’s not 01000000 or 00011111
It’s not 11001111 or 10111111
I’s not 100010 or 10010011

What is the number?




